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Problem: HBr has a molecular weight of 81 while CH,4 has a molecular weight of 16. HBr effuses through
a opening at 4 ml/sec. at what rate will the CH, effuse through the same opening.

The speed of effusion of gases is inversely proportional to the square root of their molecular weight.
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In this case ratea is HBr and rateg is CH,4.Therefore to find ratecqs, we will find rateg.We know the
following information from the problem.

ratea:=4
Ma =81
Mg:=16

Therefore,
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And the rate of effusion is 9 ml/sec.



